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shared_resource
SR = in for input ,
out for output
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process P1 for User_1;
process P2 for User_2;

process Pn for User_n;
fp(sr:SR, p1:P1, p2:P2, ... , pn:Pn) =
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fp_buf_empty(buf:B, prod:P, cons:C) =
BufferEmpty(n); cons->buf.get
ooood
BufferEmpty(n) = BE"n(e )
BE(RE) = (prod->buf.put; RE; prod->buf.get)x*
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P=a->b -> STOP
Q = ¢ -> STOP

PIIIQ =a ->b -> ¢ -> STOP
[l a->c->b->STOP
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void visit(vindex v,pindex p){
event e; vindex z; result r;
if (vertex[v] .state == visited) JO0O0O;
vertex[v].state = visited;
for(vOOOOOOOOOOOOOOO)N{
e=000000; z=00000000;
r = trans(e,p);
if(xr00000000) o000 ;
else if(r00000O0O0O)
visit(z,r 000000000 O0O0O0O0O00O);
else ODOO0O;
}
vertex[v] .state = unvisited;

}
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#define N DODOODOODO
Stack trace;
void visit(vindex v,pindex p){
event e; vindex z; result r;
for(vOOODOOODODODOOOOOOO)N
if(trace 0 00O NOOOOO) 0000 ;//()
e=000000; z=0000O0O0O0OO;
r = trans(e,p);
if(x00000000) 0000
else if(r 00000000
trace.push(0);
visit(z,r 0000000000000 0O0O);
trace.pop();
¥
else OODOO;
}
}
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int common « 0

00O Process p
0000 int x
00O loop forever

00 Process q
0000 inty
00 loop forever

pl : X « common ql: y « common

p2 : common « x + 1 | q2: common « y + 1
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((p->common.read;q->common.read) +
(q->common.read;p->common.read)) ;
((p—>common.write;q->common.write) +
(q->common.write;p->common.write))
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void v_start(vindex start_v,pindex p_init){
vindex next_v;
if (vertex[start_v].check == checked) O OO0O;
vertex[start_v].check = checked;
visit(start_v,p_init);
for(start_vOOOOOOOOOOOO)N{
next_v = 00000000;
v_start(next_v,p_init);
}
}
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